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=i ERt | TH6AE | TR2IEE | THSEE | TH20GE | TRIEE | SfneE | SmleE
= E 245 7,736 6,389 6,707 6,365 6,012 6,238 6,423
Ul 23,992 24674 24118 24,702 25,126 24,763 24764
[B]18 #A 3,702 4023 4437 4,830 5,336 5,739 0,155
=8 2 A 13,067 12,552 12,965 13,013 12,998 12,874 12,489
RfE 2 829 1,013 993 800
KIRE 565 2,385 2,145 943 911 687 865
£t 49,062 50,023 50,372 50,682 51,396 51,294 51,496
= E 245 1,025 996 1,043 749 519 519 335
24 HES 2,109 2,099 2,210 2,508 2682 2,639 2,838
[5]18 £A 262 302 302 302 340 402 473
EBEEp 2 MR 939 723 802 802 832 834 832
S T 42 84 59 52
£HE 34 226 95 19 40 20 0
£t 4,369 4,346 4452 4452 4497 4483 4530
= E 245 528 391 313 325 283 278 381
24 HES 2018 2,196 2,298 2,385 2,548 2,651 2,620
[5]18 £A 172 168 270 275 360 362 394
[E2hiks 2 MR 1,076 979 1,076 1,070 1,067 1,184 1,223
S C.L 0 0 15 5
£HE 8 175 64 5 79 16 9
5t 3,802 3,909 4021 4070 4337 4506 4642
= E 245 160 142 156 154 215 205 224
24 HES 4,460 4,364 4312 4313 4 355 4544 4518
[5]18 £A 819 901 878 945 980 903 986
BER 2 A 1,830 1,726 1,901 1,870 1,812 1,760 1,749
RfE 2 209 219 247 196
£HE 170 341 217 50 208 96 117
5t 7,439 7474 7,464 7571 7,789 7,755 7,790
= E 245 1,648 1,478 1,350 1,632 1,418 1,682 1,635
24 HES 3,399 3,546 3,425 3,616 3,504 3,280 3,229
[5]18 £A 360 362 372 382 529 624 718
SV =F 2 A 1,431 1,493 1,562 1,678 1,529 1,463 1,469
RigEhZ 105 129 151 71
KIRE o4 128 367 24 47 39 56
5t 6,892 7,007 7,066 7,136 7,156 7,139 7178
= E 245 495 391 588 415 44 44 587
24 HES 1,630 1,721 1,570 1,793 1,665 1,621 1,639
[5]18 £A 185 232 207 245 277 286 305
Bq SR 947 877 923 846 866 793 812
RigEh 124 144 175 57
KIRE 19 304 132 7 27 8 21
it 3,276 3,525 3,420 3,430 3,423 3,427 3,421
=S E 24 1,771 1,763 1,788 1,752 1,726 1,790 1,740
24 HS 2,705 2,566 2,392 2,344 2,338 2,161 2171
[5]18 £A 729 703 781 997 1,024 1,090 1,213
JI kB 1 2 A 1,763 1,784 1,834 1,848 1,850 1,983 1,820
R Z 107 174 116 150
RHE ; 407 009 256 154 39 189
it 6,977 7,273 7,304 7,304 7,266 7,229 7,283
=S E 24 1,478 780 808 786 815 799 796
24 HES 2532 2,961 2,921 2914 3,085 3,043 3,161
[5]18 £#A h44 663 852 843 787 787 816
FEED 2 MR 2577 2517 2,521 2,534 2,560 2,407 2,292
KiEhE 95 95 90 104
KIRE 101 429 307 268 282 381 252
it 7,232 7,350 7,409 7,440 7624 7,507 7,421
=S E 24 34 38 232 232 232 261 299
24 HS 2,742 2,707 2419 2,445 2526 2424 2316
[5]18 £A 300 383 453 502 612 685 673
FIAR 12 4 HA 1,186 1,092 1,092 1,080 1,094 1,089 977
KiEhE 57 52 62 117
KIRE 17 203 314 194 13 13 136
it 4379 4423 4510 4510 4539 4534 4518
= E 24 597 410 429 420 260 260 426
2R 2,002 2,155 2,226 2,133 2171 2,048 1,919
[5]18 £A 277 238 213 230 332 455 432
JbER 2 MR 954 985 912 1,033 1,066 1,089 1,078
KigEhZ 90 76 38 38
£HE 38 98 116 33 44 10 10
it 3,868 3,886 3,896 3,939 3,949 3,900 3,903
= E 24 0 0 0 0 0 0 0
2R 395 359 345 352 352 352 353
[5]18 £A h4 71 109 109 95 145 145
R 2 A 364 376 352 352 322 272 237
KigEh 0 30 30 0
£HE 10 24 24 17 17 15 75
it 828 830 830 830 816 814 810




